














2019 FEERSFERBEEEST —H R
HE OO (TH) SEER

—. IR (E8/EE, |5 S, 405

(nC (2) D (3) A (4B

(5) D (6) C (1) A (8) B
=, HATE (He/hRE, SESS #3040

(9) 8 (10) -3 1

AD (x-1)*+y*=4 (12) 40

(3) Fidlm, ILla, Mmila. (BEREAHE—)
(14) 130 15

=, BEE (Ee/hE, H80m)

(15) (F£13 41
fB: (1) ARZEHED =0’ +c* ~2accos B, 17

b =3+ —2x3xcx(—%).
HAb=c+2,

Frbh(c+2) =3 +¢? —2x3xcx(—%).
fEBc=5.

Fibtlb=17.

1) EEIcosB=—%?v§rsinB=?.

HIEZEHE 8 sin 4 =%sinB =% .

fEANABCH, B+C=n-4.
33

Fﬁusin(B+C)=sinA=—I4—.

18



(16> (F£ 1349
fE: (1) ®la,}IAERL.
EHa=-10,
Fitla,=-10+d, a,=—10+2d, a,=-10+3d .
A a,+10, a, +8, a, +6 R #5,
A (a, +8)* =(a, +10)(a, +6) .
FTBA (=2 +2d)? =d(-4 +3d) .
fEBd=2.
Fitla,=a,+(n-1)d=2n-12 .
(11> B (L) &1, a,=2n-12.
Frel, Zn=278, a,>0; Hn<6f, a,<0.
FRLL, S, BB /MES S, =-30.
an Gk124
B (1) B, AP IUER A FISEF27+3=30 A, (UEABHEEHF 24+1=25 A,
A, BRRSUST T REMERRIZEER 5 A.
HFEA T A, BRF AT REE AN 2EF100-30-25-5=40 A.

R AN F A, B ST R mu&yy%"axl 000 = 400.
CID) SB3HEC 9 “WREARALBE B B9 hBEHLIER L A, %2 EA B i &

AT 2000557, M P(C) = 2—15 =004

(ID EEHER “AFEROUER B KIS AE PRI 1A, Z34EER T8
KF 2000 75"
B FAUER B 1224, & B XATEHRT 2000 TTHABEETN, T
(II) &, P(E)=0.04.
ERAEI: ATLLAHE RN, BHT:
P(E) b8y, MR EG—RABGRE, —BRE, REEHIARIE
HAAE&HRT 2000 TTRIABURAE TN, BrUda LA AE 2L,
BRI 2. RERERRERNL. BHWTF:
i ERBENEM, PE) BN, —BABESEE, EERETRRER. B
ULERER RE TN,
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(18) (3£ 144

f#&: (1) [H P4 LT 4BCD, p

FtLl PA L BD.
XA AJEE ABCDNE,
UL BD L AC .

FrL BD L ST PAC . D

(11> B9 P41 “FHE ABCD, AE c “F1H ABCD, B C

FrLl PA L AE .

F AR E ABCD A%, £ ABC=60°, H ERNCDWIHF =,

FiLL AE LCD .

Bl AB L AE .

FibA AE L “FTH PAB .

it UAFTH PAB L “FH PAE .

() # PB 1FTEA F, {#18 CF // ¥ PAE .

WMFAPBHIHAE, LG APARIF A, EEZECF, FG, EG.

W FG// AB, EFG=%AB.

B 9HE ABCD %Y, H E 3 CDRIF R,
FiLLCE Il 4B, ELCE=%AB.
FFLAFG//CE, BFG=CE.

BT LA D37 CEGF R PAT N1 T .
FiLA CF /] EG .

H N CF ¢ ¥l PAE , EG c ¥ PAE ,

FREA CF // 1 PAE .



(19) (£14 4
ﬁz (I)EE %T) b2=11 C=1.
Frtha* =b> +c* =2.

BT LA CB‘J??%E%J%+y2=1.
(1D iip(xl’yl)’ Q(xza)h)’

MELE AP TR y=le”.r+1.

1

X yy=kx, +1 - TG |OM |=|x,, |=]

kx +t 1
B, |ON|=|—2—
| | |k +t—1I
y=kx+1,
By BA+2k)x% +4ktx+24-2=0.
—+y =1
2
2
DlUx,+x,=——4-kt—2 xlx,=2t—3.
T 142k T+ 2k°
FLl|OM|-|ON | =| |-| o |
kx +t— kx, +t-1
Ry |

k? X%, + k(1 =1)(x, +x2)+(t—1)

24=2
_ 1+ 2k2
21% — 4kt
K +k( D)t -1y
=2|1L’
1—¢

X |OM|-|ON|=2,
ﬁﬁuz|‘+’

BB r=0, ILLEK/Zd5E(0,0).



(20) (#1449
2. (1) Hﬂf(x)=%x3—x2+x?§}-f'(x)=3—x2—2x+l.

/e(\f'(.\‘)=l, Eﬂ%x2—2.¥+l=l 5 ?%x:ogjz_\’:%.

_ 8 _8
XSO0, Q==
Fﬁumiéj%y=f(x)ﬁ’ﬂ;’f‘4$?alB‘J‘»ﬂﬁ%?ﬂi;‘%y=—\“—ﬁy—%=x—§,
- -,
Bly=x5y=x 57

(1) 4 g(x)=f(x)~%, xe[=2,4].
i g (x) =%"3 X8 ') =%x2 _2x.
é\g’(x)=0?5rx=oazx=§.

g'(x), g(x) BIFFILINT :

8 8 8
x - -2,0 0 0,~ —~ .4
2 ( ) ( 3) 3 (3 ) 4
g'x) + - +
64
X -6 / 0 N\ 2
g(x) 27 s 0

pril g(x) M &/ MEH -6, BKREANO.

H-6<g(x)<0, Blx-6<f(x)<x.
CION::NQIDE F

Ha<-38, M@=F0)=|g(0)-a|=-a>3:

Ha>-30, M@)=F(=2)=|g(-2)-a|=6+a>3;

Ha=-38, M(a)=3.

Gk, HAMa) B, a=-3.

3]
(8]
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